-16 (9/12) 2
HEuHE B aEflE 500 X 400 T A 10 mL)
HH4agcfE (g500 H#EETH)
b‘ 0 |b a—+—FTN
g THA
3 |
o - .
2 TIT ;
w o K &
b | f2ri—Favsy—F
i (18N)
= L] Egavoy—t
%;I*L:_- —3 (18N)
e : o=l
= ! (RC-40)
E [{ Bl Jsc
b0 BZ h0
B3 .
. 5
vr,zsiu T - . P 565
bE =3 g i mm
(a x ¢) ( kg ) H b e Bl BZ B3 150
500 x 400 695 565 - 100 700 800 900 150
865
SETIEE
EH Bt | gxX =
B B4 EMEIE (500 %X 400 1E#T A 2m/ 7 5 K
@ #EZ AT 10 m
500 = JL-FuhE T-25 5 &
4N =pavh)—H 18N 0500 X  0.050 x 10 0.250 m3
EHmEvy)-+ [18N 0.800 x 0.150 X 10 1.200 m3
R 0.150 X 2 X 10 3.000 m2
HERAR RC-40 E15cm 0.900 x 10 9.000 m2
+T HEHI 0900 X 0150+ 1400 X 0125 = 0310
0.800 X 0025+ 0700 X 0565 = 0416
( 031+ 0416 )X 10 7.255 m3
BEREL 0900 x 0150+ 0800 x 0150+ 0700 x 0565
= 0.651
7.255 —( 0.651 X 10) 0.750 m3
At 7255 -  0.750 =~ 0.9 6.422 m3
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HEuHE B aEflE 600 X 500 i 10 m¥%L)
BHEAEAE (18600 1#EErR)
b[ 800 b
3 f | \
M o ’
o 9
= = |
Ao > 8] a=600
! A bas sy —F
{18N>
= ”d ERISTI—F
8 = = l. . 57 (18N>
® " &% g@ EERE
= {RC=40)
J BI gc
b(] B2 bl
B3 ——
. 5
‘Tﬁiu a2 | saH + % e ) o
I = & ¥ mm
{(a x ¢) ( kg ) H b e B B2 B3 150
150
600 % 500 870 680 - 100 800 900 1000
980
S ETIEE
EH Bt | gxX HE
B B4 EMEIE (600 %X 500 1T 2m/ 7 5 K
@ #EZ AT 10 m
600 = TL-FuhE T-25 5 &
4N =pavh)—H 18N 0600 X 0.050 x 10 0.300 m3
EmEav9)-b  |18N 0900 X 0.150 x 10 1.350 m3
R 0.150 X 2 X 10 3.000 m2
HERAR RC-40 E15cm 1.000 x 10 10.000 m2
+T HEHI 1000 X 0.150 + 1500 x 0.150 =  0.375
1400 X 0090+ 0800 x 0590 = 0.598
( 0375+ 0598 )x 10 9.730 m3
BEREL 1000 X 0.150 + 0900 x 0.150 + 0.900 x 0.680
= 0.897
9.730 -( 0897 x 10) 0.760 m3
%t 9730 -  0.760 =~ 0.9 8.886 m3
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BHi$eE £KHIT M1 1 ERTEY
(TER) (AT
B B
t1 bl t1 t1 bl t1
| .
” _ _ III_IIJLILIIIII_ = =
| i AJ
E T ¢ o
@ - g — > - . ™ 3
f ! ' Y
\\ \ — _I 2;%
= — & =t
; \L ; TL—FLIE i) Fiis| s o
GFELAamE) #©E avhy—p
el 50| B |5 (18N)
W \AEEE
RC-40)
tiE%
. s B b1 t1 H h1 h2 h3 h4 1 c2 W FL—F oy
= e (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) =
Wi 700 % 700 % 900 1000 700 150 1050 81 819 150 150 822 822 1100 T-25
M2 800 % 800 700 1100 800 150 850 96 604 150 150 922 922 1200 T-26
M3 900 x 900 x 800 1300 900 200 950 96 704 150 200 1022 1022 1400 T-26
W4 1000 x 1000 x 1000| 1400 | 1000 200 1150 106 894 150 200 1132 1132 1500 T-25
£ 2 @ B Y-+
MOk by o 25
400 X 500= 2 EAT -0.800 0.300  -0.500 -0.060 1,050
400 x 600= 3 AT ~1.440 0540  -0.900 -0.108 n 0
400 X 700= 1 &R -0.560 0.210  -0.350 -0.042 150
& 6 EfT g 1750 E  -0.210 E 1,200
1EAFSY:  -0875m2  -0.105 m2 SEIEE
IHH -5 gxX =
a4 —+ 18N 1000 x 1000 x 1.050- 0822 x 0822 X 0.081
- 0.700 x 0.700 x 0.819 - 0.105 0.489 m3
EiALp e 1.000 X 4 x 1050+ 0700 x 4 x 0819
- 0.875 5618 m2
ERRa RC-40 [E15¢m | 1100 x  1.100 1.210 m2
YV-FUy E - H700F T-25 1 #8
T PEHI 1100 x  1.100 X 0.150 +  1.600 X 1.600 X  0.460
+ 1000 x 1.000 x 0.590 1.949 m3
HEL 1949 -( 1100 x 1100 x 0.150 + 1.000 x  1.000
X 1.050) 0.718 m3
%kt 1949 - 0.718 —+— 0.9 1.151 m3
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BHi$eE £KHIT M2 1 ERTEY
(TER) (AT
B B
t1 bl t1 t1 bl t1
| .
N | IO — -
| i AJ
E T ¢ o
@ - g — > [ . ™ 3
f Lo b
\\ \ ‘.__I i;ﬁ
= — 2 o
L)l Fu-FvrE Fite iciil z g
GFELAamE) #©E avhy—p
el 50| B 51 (18N)
HRRE
RC-40)
STER
" MFs B b1 t1 H h1 h2 h3 h4 1 62 W | F—Fry
= e (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) =
Wi 700700900 | 1000 700 150 1050 81 819 150 150 822 822 1100 T-25
W2 800%800%700 | 1100 800 150 850 96 604 150 150 922 922 1200 T-26
M3 900%900x 800 | 1300 900 200 950 96 704 150 200 1022 | 1022 1400 T-26
M4 | 1000x 1000x 1000| 1400 | 1000 200 1150 106 894 150 200 1132 | 1132 1500 T-25
£ 1 &mr B -+
MOk by o 25
400 x 400= 1 & -0.320 0.120  -0.200 -0.024 850
500 X 400= 1 R -0.400 0.120  -0.280 -0.030 0
150
& 2 EfT s -0480 & -0054 E 1,000
1EATSY:  -0480 m2  -0.054 m2 SEIEE
IHH -5 gxX =
a4 —+ 18N 1100 X 1100 X 0850 - 0922 x 0922 x 0.096
- 0.800 x 0800 x 0.604 - 0.054 0.506 m3
Eidl o] 1.100 X 4 x 0850 + 0.800 X 4 x 0604
- 0.480 5193 m2
ERRa RC-40 [E15cm | 1.200 x  1.200 1.440 m2
YV-FUy E - H800F T-25 1 #8
T izl 1200 x 1200 x 0.150 + 1.700 x 1700 x  0.260
+ 1100 x 1100 x 0.590 1.681 m3
BRL 1681 -( 1200 x 1200 x 0.150 + 1100 x  1.100
X 0.850 ) 0.437 m3
>3 1.681 - 0437 — 0.9 1.195 m3
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BHi$eE $£Kk#HT M3 1 ERTEY
(FER) (AR
B B
t1 bl t1 t1 bl t1
|
” __J _ II‘IJIJLILIIIII_ =
| i AJ
) T ;4 o
@ ™ o ! - o 3R
f Lo b
\‘ \ __t iiﬁ
| N\grors Fi i z 3
GFELAamE) #©E avsy—Fk
o1 50 B o8 T aen
W ERRA
RC-40)
STER
: S B bl t1 H hi h2 h3 hé ¢l 2 W FL—Fry
B e (mm) (mm) (mm) (mm) (mm) (mm}) (mm) (mm) (mm) (mm) (mm) =
M 700x700%900 | 1000 | 700 150 1050 81 819 150 150 822 82z | 1100 T-25
M2 800x800%700 | 1100 | 800 150 850 96 604 150 150 922 922 | 1200 1-25
M3 000%900% 800 | 1300 | 60O 200 450 96 704 150 200 | 1022 | 1022 | 1400 T-25
M4 1000 x 1000 x 1000 | 1400 1000 200 1150 106 894 150 200 1132 1132 1500 T-25
£ 1 &mr B WYt
MOk by o 25
500 X 400= 1 & -0.400 0.160  -0.240 -0.040 950
600 X 500= 1 &Ffr -0.600 0.200 -0.400 -0.060 O
200
& 2 EfT 5 -0640 E -0.100 E 1,150
1EFSY:  -0640 m2  —0.100 m2 ST IEE
EHH R -4 gxX =
vy -+ 18N 1300 x 1300 x 0950 - 1.022 X 1022 X 0.096
- 0.900 x 0.900 X 0.704 - 0.100 0.835 m3
EiALp e 1.300 X 4 x 0950+ 0900 x 4 x 0704
- 0.640 6.834 m2
HiER RC-40 [E20cm | 1.400 x  1.400 1.960 m2
DV—FU9 3 - 900 T-25 1 %8
T PEHI 1400 x 1400 X 0200+ 1900 X 1900 x  0.360
+ 1.300 x 1300 x 0.590 2.689 m3
HEL 2689 -( 1400 x 1.400 X 0.200 + 1.300 x 1.300
X 0.950) 0.692 m3
>3 2.689 - 0.692 = 0.9 1.920 m3
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BHiu$eE £KHIT M4 1 ERTEY
(TER) (AT
B B
t1 bl t1 t1 bl t1
| I )
_ R I O [ X
= ; P U o
] T | 1 o A
o . ] [ S S i ] ! i e & W
] 7 f - ; I i 'V
LN —
&) | | 2] 8
T T £ ~
L)l FL—FLE Fite @ z
@LRAL @8 aviy—t
el 50| B |5 (18N)
W \AEEE
RC-40)
STER
5 At B b1 t1 H h1 h2 h3 h4 C1 c2 W Tv—F T
B ik (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) =
M1 700 700 900 1000 700 150 1050 81 819 150 150 822 822 1100 T-26
M2 800 800x 700 1100 800 150 850 96 604 150 150 922 922 1200 T-26
M3 900X 900800 | 1300 | 900 | 200 | 960 96 704 | 150 | 200 | 1022 | 1022 | 1400 I-26
M4 1000 x 1000 x 1000 | 1400 1000 200 1150 106 894 150 200 1132 1132 1500 T-26
£ 1 & i -+
MOk # o 25
400 X 700= 1 & -0.560 0.280  —0.280 -0.056 1,150
400 x 600= 1 &R -0.480 0.240  -0.240 -0.048 0
600 X 560= 1 & -0.672 0.224 -0.448 -0.067 200
& 3 EfT & -0968 & 0171 E 1,350
1EATSY:  -0.968 m2 -0.171 m2 ST IEE
IHH A -4 X HE
a4 —b 18N 1400 x 1400 x 1150 - 1132 x 1132 x 0.106
- 1.000 x 1.000 X 0.894 - 0.171 1.053 m3
EiALp e 1.400 X 4 x 1150+  1.000 X 4 x 0894
- 0.968 9.048 m2
ERRa RC-40 [E20cm | 1500 x  1.500 2.250 m2
YV—FUy E - B 1000 T-25 1 48
T PEHI 1500 x 1500 x 0.200 + 2000 X 2000 X 0.560
+ 1400 x 1400 x 0.590 3.846 m3
HBEL 3.846 -( 1500 x 1500 X 0200 + 1.400 X 1.400
X 1.150 ) 1.142 m3
%kt 3.846 — 1.142 — 0.9 2.577 m3
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BuHE SELHT 10 mY
120 ay4Y-b2"0ys (JIB A 5307)
120 x 120 x 600
ﬁﬁﬂ:l:ﬁ
=iz = acd
Oi T %
N :
Oyr— '
N. o ] (:ﬁ
N 1 8 EBMELA:3 ZTE
o) o
@ ap21)—k>8N)
T— O
EfER
(RC-40)
160
gEgEYET
300 _
HH IR -4k gxX #H=
avh)—k7°avy 1120 % 120 X 60 10 = 0.600 16.7 A
B EZFT 10.000 m
TR 1:3 224 0.120 x  0.020 x 10 0.024 m3
avyY)—b 18N 0.160 x  0.120 X 10 0.192 m3
R 0.120 X 2 x 10 2.400 m3
HiERA RC-40 [E£10cm | 0.160 x 10 1.600 m2
T e Al 0420 x 0360 X 10 1.512 m3
HEREL 0.300 X 0.360 X 10 1.080 m3
> 1512 - 1.080 = 0.9 0.312 m3
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Blir#= 1 ErfrHY
o] o]
Q Q
(o] (o]
o o
1000
: 600
N Z%I;%C’ o
iyl e 10— TS | T )
b e H - ; l O
t:::;f;ii_____ ,ﬂl (38
\@EARIVIY-—F SEEFIAVIY—F
Rk} T8Ny
IHH IR -4k gxX =
avh)—k 18N mEE ( 3.000 + 2.000 )/ 2 X 4472
0.200 = 2.236 m3
KEEER (0200 x 0.400 X 2+ 1.000
0200 ) x  1.710 = 0.616 m3
& 2.852 2.852 m3
B MEEE {4472 x 2 +( 2000 - 1.000 )}
0.200 = 1.989 m2
JKEEER (0400 + 0.600 ) x 2 X 1.710
= 3.420 m2
B 5.409 5.409 m2
T L

34/40




BENHE T ER i T IRERIER
MR RESE
IHH A - 4% N neE
avh—h 24N HRRtEE 1300 x 1500 X 2870 - 0700 X 0.900 X 2.520
- 08162 x yx/4 X 0300 3.852 m3
18N TR ERRHFE T &R 1520 % 1.860 x  0.500 1.414 m3
A7 SD345 3.852 x 0.800 t/m3 3.082 t
#Lavy)-+  [18N 1700 x 1500 x  0.100 0.255 m3
pinl oA & FhcoFH 2870 x(  1.300 + 1.500 ) x 2+ 2520 x ( 0.700
+ 0.900 ) x 2 - 08162 x /4 X 2 23.090 m2
#EffcoH 1520 x 1860 + 1860 X 0500 X 2
- 08162%2 x /4 4.164 m2
¥ LcofH 0200 x ( 1.700 + 1500 ) x 2 1.280 m2
RS FRS5TH4EA 2870 x ( 1.300 + 1.500 ) x 2+ 25520 x ( 0.700
+ 0.900 ) x 2 24.136 #m2
EHEY W300 10 10 &
$kFravy)-ME| 9700 15E 20.000 + 2.430 8.230 K
G 6 20.000 20.000 m
T izl RS
10510 X 3.152 = 33128 m3
WU E BB
4920 x  20.000 = 98400 m3
5t 131528 131.528 m3
HEL C MU ER
7.770 X 3.152 = 24491 m3
WU E &R
20.000 x ( 2.530 + 1.860 ) = 87.800 m3
5t 112.201 112.291 m3
Et 131528 - 112291 + 09 6.760 m3
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RETERL 300
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| \ 3 W=300_ Q&ﬂﬁ
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1860
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orlp 8 ——+‘*
5 4+ (RE) +18=RL - %a f
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HH= MEER T 1 EHATHY
0 2
[®) =53]
= I
o
Q ©
o g Lt <l L_§
N W | D —DiiE
o) &
O
= 2200
2000
100 Mo
_ ow
i | =l o
e i T— O"’& Qg
— OB <
LO—CBriE. Bt/ S
T8N !
14@286=4000
o)
o)
N
If
]
v
-
®
<t
-
IHH IR -4k gxX =
avyy)—+ 18N ( 0100 + 0243 )= 2 X 2200 X 4286
+( 0050 + 0193 )+ 2 X 0100 x 2
X 4286 1.721 m3
pinLp e {C 0050 + 0193 )= 2 + 0293 }x 2
X 4286 + 0.143 x 2000 x 14 7.557 m2
T L
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HuHE EFTHa09)-bT 10 m244Y)
1300 HHWIL =6. 19
. / HWL=6. 09
300 | 300 / MWL=5. 96
0
L 0
@l d// ol
| = ¥ [45] ‘-O
SR N I S . "8 o
r= 5| % — ~N
\E,,,,,,,, [ e @_‘I V HERL{5r=5. 10 0 - Q o)
. 7 ihJEE=4. 80 D) 1o
=t ==0 o @
I JEIT S :]zy;Ja $ N
p. 3 =
3. 44 | 1 e
X (D10 < 100 < 100) o
— T 9)#%
iG] =
A=k > [N Lavsy—t
1300 (18N}
100 1500 [100 DL=2. OOm
1I5H A -4 X HE
avh)—+ 18N 10 x 0.100 1.000 m3
R =4 D10 X 100 X 100 10 x 112 kg/m2 + 1,000 0112 t
T mL
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H#H= PF2YRIIRT 10 m3HY
2000 @2000 KBZ! §i
1 0
Iy}
o)
ly)
SRS
0% ool o
toterero - JIN I T
bodedele! N®
eetetolol! Dy
2RSS i Rl
S 1|78
2R
Iy}
(o)
9]
———otof | %7
® B |
N I ®
v
> 180"
=R IR -4k gxX =
F9b7IVA H=1800 10.000 10.000 m
auh)—k 18N 0180 X 0180 X 0.450 x 10 = 2000 0.073 m3
Gl oA 0.180 X 0450 X 4 x 10 + 2.000 1.620 m2
HEpa RC-40 [£10cm | 0280 x 0280 x 10 =  2.000 0.392 m2
+T Rl (0280 x 0.280 x 0.100 + 0.780 x 0.780
X 0420)x 10 = 2000 1.317 m3
#HEL D 1317 -( 0280 x 0.280 x 0.100 + 0.180 x 0.180
x 0420)x 10 = 2000 1.210 m3
Et 1.317 - 1.210 + 09 = -0027 0.000 m3
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HAuHE mAZEMEL IRERIED)
2045
1990
\ Fay o
il \ o
Clo
L—apRaEncd PL-100X4.5 & F: Olp
jos]
- =N
-
— A T AN T 88
——= O
o a % L HERIT
© i BEEP22
~ avsy—Fr
Of M W (Tai> B W
3007 . RERE
4005 (RC-40)
EH B | B HE
F9EE H=1800 W=2000 1 1
av9)—F 18N 0300 x 0300 x 0.600 x 2 0.108 m3
Gl oA 0300 x 0600 x 4 x 2 1.440 m2
HEpa RC-40 =10cm | 0400 x 0400 x 2 0.320 m2
o i HEHI (0400 x 0.400 X 0.100 + 0.900 X 0.900
X 0570 ) x 2 0.955 m3

#HEL D 0955 -( 0400 x 0400 x 0.100 + 0.300 X 0.300
X 0.570 ) x 2 0.820 m3
Et 0.955 - 0.820 =+ 0.9 0.044 m3
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